
The excess pressure inside a spherical drop of water is four times that of another 

drop. Then their respective mass ratio is? 

The excess pressure inside a spherical drop of water equals: 

𝑝 =
2𝛾

𝑟
 

where 𝛾 – surface tension for water, 𝑟 – radius of the drop 

 So, if we have 2 drops with excess pressures 4𝑝1 = 𝑝2 then: 

4
2𝛾

𝑟1
=
2𝛾

𝑟2
 

or: 

𝑟1
𝑟2
= 4 

But on other hand, mass of spherical drop of water equals: 

𝑚 =
4

3
𝜋𝑟3𝜌 

where 𝜌 – density of water,  𝑟 – radius of the drop 

Therefore,  

𝑚1

𝑚2
=
𝑟1
3

𝑟2
3 = (

𝑟1
𝑟2
)
3

= 43 = 64 

Answer: 64 
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